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QUESTION 1

For which two functions can the LDdiscover utility be used? (Choose two.) 

A. agentless inventory 

B. deploy the LANDesk?client 

C. unmanaged device discovery 

D. login script-based deployment 

Correct Answer: AB 

 

QUESTION 2

When delta scanning is enabled, the complete inventory scan file is stored on the client in which file? 

A. INV.DAT 

B. SCAN.DAT 

C. DELTA.DAT 

D. INVDELTA.DAT 

Correct Answer: D 

 

QUESTION 3

When performing a Remote Control session to a LANDesk?Management Suite v8.5 client, which TCP port needs to be
open on the firewall to contact the Windows-based client? 

A. 1141 

B. 1761 

C. 5007 

D. 9535 

Correct Answer: D 

 

QUESTION 4

What are the four options for Start the Inventory Scan in Client Configuration? (Choose four.) 

A. frequency 
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B. run as service 

C. local scheduler 

D. IP address change 

E. manually from device 

F. start from the Startup folder 

G. at startup using the Run key Registry setting 

Correct Answer: ADEG 

 

QUESTION 5

You have targeted a subnet of lab computers that all need to be reimaged. You create a Migration task 

that will reimage the machines using Targeted MulticastTM and start the task. The job fails, stating that a 

Multicast Domain Representative could not be found. 

What is the most likely cause of the error? 

A. There is not a PXE Proxy on the targeted subnet. 

B. A preferred Multicast Domain Representative has not been selected for the targeted subnet. 

C. There is not a managed node with the Targeted Multicast client that will persist on the subnet. 

D. The routers between the Core Server and the targeted subnet have not been configured to pass multicast packets. 

Correct Answer: C 
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